'DEVOIR 4 DO,

Exercice 1

Je développe
E =(5x+1)(4-3x)—(3x-4)’

- (20x—15x2 n 4—3x)—(9x2 - 24x+16)
=17x—-15x> +4-9x* + 24x—16
E=—24x2 +41x—12

Je factorise

E =(5x+1)(4—3x)—(3x—4)"
= (5x+1)(4—3x) —(4—3x)2
=(4-3x)[ (5x+1)—(4-3x) |
=(4-3x)(5x+1-4+3x)
E=(4-3x)(8x-3)

B x* ><(x‘2y)5 x xy?

- x2y* ><(x*3y2)3 x X%y

B X4 % X—lO y5 > X—G y3

Exercice 2
Je calcule Je calcule
A=3"+5x2"-16+2° 16><(1O‘1)2><105
A=9+5x16-16+8 = 4x10°
A=9+80-2 16x1072x10°
A=87 T 4x10°
3
B 4><]:§)
10
B =4x10%*
B =4x10°
Exercice 3
Je simplifie

Je calcule E pourx =107 et y =0.01
E=x’xy”®

E =(10%)’x(102)”

Je donne I'écriture scientifique de a :
a=175x10*x2x10™"

a=175x2x10%**
a=350x10"
a=35x10"

E= X2y x xPye x x By E =10°x10°

£ X4—10—6 y5+3 E = 106+6
X2—9—8 y4+6+1 E — 1012

E_ X_12 ys
X—15 yll

E — X—12+15 y8—11

E=x%"

Exercice 4

Je donne I'écriture scientifique deb :
b=15x10"° +5x10° -0.25x10~’

b=15x10"° +50x10° —25x10°°
b=(15+50-25)x10"°
b=40x10"°

b=4x10"°
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